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QUESTION 1

In a Multi-Org Access Control scenario, the profile option used to derive the Operating Unit for determining the tax code
on GL Journals comes from

A. MO: Operating Unit

B. MO: Security Profile

C. GL: Data Access Set

D. HR: Business Group

E. MO: Default Operating Unit

Correct Answer: A

QUESTION 2

In the Descriptive Flexfield (DFF) implementation, the purpose of the "Synchronize with Reference Field" check box is to
synchronize

A. the DFF Values with the Reference field

B. the DFF Contexts with the Reference field
C. the DFF Attributes with the Reference field
D. the DFF Segments with the Reference field
E. the DFF Value Sets with the Reference field

Correct Answer: B

QUESTION 3

An activity in a workflow process can be a

A. notification or a subprocess, but not a PL/SQL function

B. subprocess or a PL/SQL function, but not a notification

C. PL/SQL function or a notification, but not a subprocess

D. PL/SQL function, a notification, a subprocess, or a business event

E. PL/SQL function, a subprocess, or a business event, but not a notification

Correct Answer: D
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QUESTION 4

Identify three features of Multi-Org. (Choose three.)

A. The data can be logically partitioned.

B. Users can be assigned to specific organizations.

C. It defines organizations and the relationships between them.

D. Multiple installations of Oracle Applications products are needed.

E. It enables at most two business units to use a single installation of Oracle Applications.

Correct Answer: ABC

QUESTION 5

Company ABC is implementing Oracle User Management (OUM). It has decided to implement the Self-Service and
Approvals access control layer. What are the three self-service registration tasks an end user can perform? (Choose
three.)

A. Reset passwords.

B. Obtain new user accounts.

C. Request deactivation of responsibility.

D. Request reports to be added to request set.

E. Request additional access to the applications.

Correct Answer:. ABE
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